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E
(202246 H30A £ TIZZHHDBE I F) 202547 1 1 A 8
[ECIINER S 25 [E%€ [J:COM o— 2% (3%1) i H HEERIRBid) | HEERIHE(BLA) | S2R0fRBRe (Bl | ZAOMRREr (BLA) | (52)
MR [JERE |LINK/4K]B/SJB/STV
B%
5 [In My Room 357577 14 {Ié’\ - TVZ 7By 7k [120M=—2 4,251 (BiiA4,67619) 4,000[T] (BiiA4,4000) |-
£
H5FE [In My Room 3575752 1 |EA |- TVZF S B /37k  [320M=a—A 4,918 (BiiA5,4091) 4,000 (BiiA4,400M9) |-
=2
5 [In My Room 35577 14 %é} - V772D 120M=1— % 4,061 (BiiA4,467H) 4,000[T] (BiiA4,400) |-
£
H5FE [In My Room 3575752 1 |EA |- TVZFFD 320M—A 4,728 (BiiA5,20019) 4,000 (BiiA4,400M9) |-
=2

215 |In My Room A~—RBEF75 E S |J:coM TVZ 7By 7k [120M=1—2 4,251 (BiiA4,67619) 4,000[T] (BiiA4,4000) |-
PHONE=1— 2 (14E£2%9) % |LINK/4K]B/SJB/4K]
B/SJB with%# 7Lk

H21FE|In My Room A~ — BT 7> 4 |[#4 [1:coM TVFFoBar 37k |320Ma—% 4,918 (BiiA5,409117) 4,000 (BiiA4,40011)
PHONE=— 2 (14E#2%9) fE% |LINK/4K]JB/SJB/4K]
B/SJB with# 7L wh

215 |In My Room A~—RBEF75 E S |1:coM TVZZ2D 120M=1— % 4,061 (BiiA4,467MH) 4,000[T] (BiiA4,40019)
PHONE=1— 2 (14E£2%9) % |LINK/4K]B/SJB/4K]
B/SJB with%# 7Lk

H21FE|In My Room A~ — BT 7> 14 |[#4 [1:coM TVZ5.D 320Ma—X 4,728 (BiiA5,200117) 4,000 (BiiA4,40019)
PHONE=— 2 (14E#2%9) fE% |LINK/4K]JB/SJB/4K]
B/SJB with# 7L wh

#5267 [In My Room A~—RBF75 E S |1:.coM TVZ 7By 7k [120M=1—2 4,251 (FiiA4,67619) 4,000[T] (BiiA4,400) |-
STREAM=t— X (14E42)) % |LINK/4K]B/SJB/4K]
B/SJB with%# 7Lk

H267E|In My Room A~ —FBH7 7 4 |[#4 [1:coM TVFFoBa 37k [320Ma—% 4,918 (BiiA5,409117) 4,000 (BiiA4,400M9) |-
STREAM=t—Z (14E32)) fE% |LINK/4K]JB/SJB/4K]
B/SJB with# 7L wh
#5267 |In My Room A~—RBF75 E S |1:coM TVZZ2D 120M=1— % 4,061 (Biir4,467MH) 4,000[T] (BiiA4,40019) |-
STREAM=t—Z (14E42)) % |LINK/4K]B/SJB/4K]
B/SJB with%# 7Lk
H267E|In My Room A~v—FBH7 7 4 |[#4 [1:coM TVZ5.D 320M=—X 4,728[1] (BiiA5,200117) 4,000 (Bi3A4,40011) [~
STREAM=t—Z (14E32)) fE% |LINK/4K]JB/SJB/4K]
B/SJB with# 7L wh
TTHE|In My Room A~—RBF75 4[4 [J:COM LINK/4KJB  [TVZZU B 37k [320M—% 4,918 (BiiA5,409117) 4,000 (BiiA4,400) |-
TVHNET=— 2 (14E249) £
FTTRE|In My Room A~ — BT 7> 14 [#45 |J:COM LINK/4KJB~ [TVZ 2D 320M=—X 4,728 (BiiA5,200117) 4,000 (BiiA4,400M9) |-
TV+NETZ— 2 (14E5259) e
TTHE|In My Room A~—RBEF75 4[4 [J:COM LINK/4KJB  [TVZFu B 37k [1Ga—*A 5,418 (BiiA5,95911) 4,000 (BiiA4,40019) |-
TVHNET=— (14E249) £
ETTHE|In My Room A~ —FBH7 7 14 [#45 |J:COM LINK/4KJB~ [TVZ 2D 1G—2A 5,228] (BiiA5,75011) 4,000 (BiiA4,400M) |-
TV+NET=— 2 (14E5259) e
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[ECIINER S 55 [ [J:COM o— 25 (%) i H HEERIRBid) | HEERIHE(BLA) | S2R0fRBRe (Bl | ZAOMRREr (BLA) | (52)
MR [JERE |LINK/4K]B/SJB/STV
B%
5 15%|In My Room A~—FBH7FEX |14 & |STVB/STVB with# 7 [TVZF B 737k [320M=1—A 4,918 (BiiA5,409H9) 4,000 (BiiA4,4001) [~
PHONE=— 2 (14£-524)) fEE Lk
H15F%[In My Room A~—hBGF77EX |14 [#£4 [STVB/STVB with%# 7 [TVFZD 320Ma—X 4,728 (BiiA5,200117) 4,000 (BiiA4,40011) [~
PHONE=1— 2 (14E3259) FEE |Lyk
31 [In My Room A~—hBfF7IVEX |14 |4 [STVB/STVB with% 7 [TV ZU B 737k [320M—% 4,918 (BiiA5,409M9) 4,000[T] (BiiA4,400) |-
STREAM=t— X (14E42)) fEE |Lob
H31HE[In My Room A~—hBGF77VEX |14 [#£4A [STVB/STVB with%# 7 [TVFZD 320M=—X 4,728[1] (BiiA5,200117) 4,000 (Bi3A4,40011) [~
STREAM=t— 2 (14E3244) FEE Lok
#563%E[In My Room F55I|~7Z 24 |#£4 |J:COM LINK+§kE ] {TV+NET (TVZ 7B [320M=—2% 2,680 (BiiA2,948M) 1,000 (BiiA1,100H) |-
(EE | N=RTFTgAT (L g |37k +12M,
V) /4KJB/SJB 40M)
H569F&[In My Room F55 75> 24£ |#EA [J:COM LINK+Em ] [TVHNET (TVZZ2 B [320M=—A 2,6801] (BiiA2,948M) 1,000 (BiiA1,10011) [~
FEE | N—FF 427 (LF [+12M, 40M)
V) /4KJB/SIB
718 [In My Room F55I|7Z 24 |#£45 |J:COM LINK+§kE ] {TV+NET (TVZ 7B [320M=—2X 1,680H] (FiiA1,848M9) 1,000 (BiiA1,100) |-
EE ([ N—=RTFgARZ (L Z |z 737k +120M)
V) /4K]B/SJB
H573FE[In My Room F55] 75> 24£  |#EA [J:COM LINK+Em ] [TVHNET (TVZZ2 B [320M=—A 1,680 (BiiA1,848M) 1,000/ (BiiA1,10011) [~
fEE | N—RFT A7 (LZ |+120M)
V) /4KJB/SIB
#563%E[In My Room F55I| 7 24 |#£45 |J:COM LINK+§kE ] | TV+NET+TEL(TVY" [320M=1—2% 2,680 (BiiA2,948M) 4,000 (BiiA4,40019) |-
B2 (N—RTF 427 (L2 |FUBaL "I+
V) /4KJB/SJB 12M, 40M)
#563F&[In My Room F55 75> 24F  [4EA [J:COM LINKHEEI T [TVHNET+AH /37 [320M=1—A 2,680 (BiiA2,948117) 4,000 (BiiA4,400M9) |-
FEE | N—FF 27 (L& | (TVFTUBaL <7k
V) /4KJB/SIB -+ 12M, 40M)
5697 [In My Room F55I|~7Z 24 |#£45 |J:COM LINK+§kE ] | TV+NET+TEL(TVY" [320M=—2X 2,680 (BiiA2,948M) 4,000[T] (BiiA4,40019) |-
B [N—FF 427 (L% |F2B+12M, 40M)
V) /4K]B/SJB
H569F&[In My Room F55] 75> 24F  [#EA [J:COM LINKHEEI T [TVNET+AH /37 [320M=1—A 2,680 (BiiA2,948M1) 4,000 (BiiA4,400M9) |-
EE (N—RF 27 (LoZ | (TVTTB+12M,
V) /4KJB/SIB 40M)
718 [In My Room F55I17Z 24 |%£45 |J:COM LINK+§kE ] | TV+NET+TEL(TVY" [320M=—2% 2,180 (BiiA2,398M) 4,000[T] (BiiA4,40019) |-
B2 (N—FTF 427 (L2 |FUBar " Ih+
V) /4K]B/SJB 120M)
T15E|In My Room BB 7 5> 24F  [#EA [J:COM LINK+HERI I [TVHNET+AH /37 [320M=1—A 1,680 (BiiA1,848M) 4,000 (BiiA4,400M9) |-
FEE | =Ty R7 (L& | (TVFTUBaL <7k
V) /4KJB/SIB +120M)
5738 [In My Room F55II~7Z 24 |#£45 |J:COM LINK+§kE ] | TV+NET+TEL(TVY" [320M=1—2X 2,180/ (FBiiA2,398M) 4,000[T] (BiiA4,400) |-
EE | N—FT 27 (L& |FB+120M)
V) /4K]B/SJB
H573FE[In My Room F55 75> 24F  [#EA [J:COM LINKHERI I [TVHNET+AH /37 [320M=1—A 1,680 (BiiA1,848117) 4,000 (BiiA4,400M9) |-
fEE [N—FF 427 (L% | (TVFFB+120M)
V) /4KJB/SIB
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[ECIINER S 55 [ [J:COM o— 25 (%) i H HEERIRBid) | HEERIHE(BLA) | S2R0fRBRe (Bl | ZAOMRREr (BLA) | (52)
MR [JERE |LINK/4K]B/SJB/STV
B%
H27HE|J:COM NET Hjllm— 2 (1HF324)) 148 {Ié} ¥n — 120M=—2A 3,980 (BiiA4,378M) 3,000 (BiiA3,30019) [~
£
HE2THE|J:COM NET $ll=—= (14EE2%0) |14 [#ED [%n — 320M=1—A 4,680 (BiiA5,1481) 3,000 (BiiA3,30017) |-
=2
528%#E(J:COM NET Rl — 2 FH2K))  [24F E&% ¥n — 120M=— 2 3,980 (BiiA4,378M) 3,000 (BiiA3,30019) [~
£
H528FE|J:COM NET $ill—= (4EE2%Y)  [24F [ 94k [%n — 320M=—A 4,680 (BiiA5,14817) 3,000 (BiiA3,30017) |-
=2
H528%#E(J:COM NET Fejllm—2 (F324))  [24F  [J7&E [%n — J1G21—A on 5,180 (BiiA5,698M) 3,0001 (BiiA3,30019) |-
= auOM)
H2ff [J:COM TV My style (24E525) 24 R [~ TV+NET 40M=T—A 3,323H (BiiA3,655M1) 4,000 (BiiA4,40011) -
=2
H2fl [J:COM TV My style (2#E5259) ﬁ»ng TV+NET 120M=1— 2 4,847 (BiiA5,3311) 4,000 (BiiA4,40019) |-
£
H2ff [J:COM TV My style (24E5259) 24 | [~ TV+NET 320M=T—A 5,342 (BiiA5,8761) 4,000 (BiiA4,40011) [~
=2
H2fk [J:COM TV My style (2#E5259) 24 EE — TV+NET+TEL 40M=1— A 3,623 (BiiA3,985M) 4,000 (BiiA4,40009) |-
£
H2FE |J:COM TV My style (24E325)) 20F [ [ — TV+NET+TEL 120M=a— 2 5,147H] (BiiA5,6611) 4,000 (Fiir4,40017) |-
=2
H2fk [J:COM TV My style (2#E5259) 24 EE — TV+NET+TEL 320M=t—A 5,642 (BiiA6,20611) 4,000 (BiiA4,40019) |-
£
F10%E[J:COM TE A/ S 7 (4EFK)) 24E |- - - 120M=T—2% 4,2111 (BiiA4,6321) 3,000 (Bi3A3,300M9) |-
H10%E|J:COM {E ANy (24:2254)) 29 |- — — 320M=a—A 4,830 (BiiA5,313H) 3,000[T] (BiiA3,30019) |-
H6fE |[NET/3»2Z<PHONE> (14E525) JEE R — 120M=T—2% 3,980[1] (Biir4,37811) 3,000 (BiiA3,30011) | HTH HLASE AHE 16— A D2 <
FE
H6FE [NET/<»27<PHONE> (14E525)) 14 %é} - — 320M=1— A 4,680 (BiiA5,148M) 3,000 (BiiA3,30011) | Bl HGASE A 1k — i 2 02 <
£
H9fE |[NET/yZ7<PHONE> (24£524) 24 R [~ — 120M=a— 2 3,980[1] (Biir4,37811) 3,000 (BiiA3,30011) | HTH HASE AHE 1R — i A 02 <
=2
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[ECIINER S 55 [ [J:COM o— 25 (%) i H HEERIRBid) | HEERIHE(BLA) | S2R0fRBRe (Bl | ZAOMRREr (BLA) | (52)
MR [JERE |LINK/4K]B/SJB/STV
B%
9% [NET/<»7<PHONE> (24 52#)) 24 EE — — 320M=1— A 4,680 (BiiA5,148M) 3,000 (Bi3A3,30011) | Bl HGASE A 1k — i A 02 <
£
H9%E |[NET/y7<PHONE> (24£524) 24F ?ﬁ_ - — JE1G2—A on 5,180[1] (BiiA5,6981) 3,000H (BiiA3,30011) | HTHL HASE (HE IR — A D 2<
ES aul™y
H59ME|NET 37 <J:COM STREAM FLIZE [14F [#EA [— — 120M=— 2 4,680 (BiiA5,148M) 3,000 (BiiA3,30019) [~
> (14E259) e
H59FE(NET /3 7<J:COM STREAM FLECE [14F |54 [— — 320M=1— % 5,380[1] (BiiA5,918117) 3,000 (Bi3A3,300M9) [~
> (14E325) =2
H60FE|NET/ 37 <J:COM STREAM FLIZRE [24F [F4k [— — 120M=— 2 4,680 (BiiA5,148M) 3,000[T] (BiiA3,300M9) |-
> (4E2H) e
H60Ff|NET/3»2<J:COM STREAM FLIZRE [24F [kt [— — 320M=1— % 5,380[1] (BiiA5,91811) 3,000 (BiiA3,30011) -
> (24E325) =2
H60FE|NET/ 37 <J:COM STREAM FLIZRE [24F [F4k [— — J1G1—A on 5,880 (FiiA6,4681) 3,0001 (BiiA3,30019) |-
> (24F3249) = auOM)
F16FE|NET/ S ZEX (14E-32259) 14E [#5 [STVB/STVB with% 7 | — 320M=1—2A 4,680[1] (BiiA5,148[17) 3,000 (FiiA3,30017) |-
E2 [Lybk
HHE | BV 7N (LK) 14 ;;Eé.\ - TV+NET 40M=1—A 2,785 (FiiA3,06319) 4,000[T] (BiiA4,40019) |-
£
B B L 27 ERK) e TV+NET 120M=— 2 3,071H (BiiA3,3781) 4,000 (BiiA4,400M9) |-
=2
HHE | BV 7N (LEZK) 14 ;;Eé.\ - TV+NET 320M=1—2A 3,547H (BiiA3,90119) 4,000[T] (BiiA4,40019) |-
£
B B L7 ERK) [ TV+NET+TEL 40M=T— A 3,037 (BiiA3,340[1) 4,000 (FiiA4,40017) |-
=2
F1E|BEEL 7 (HERR) [ TV+NET+TEL 120M=1— X 3,513 (FiiA3,86419) 4,000[T] (BiiA4,40009) |-
e
B B L 27 ERK) [ TV+NET+TEL 320M=—A 3,9901 (BiiA4,38911) 4,000] (Fiir4,40017) |-
5
EAC ARSI R AN G S S)) 24 EE — TV+NET 40M=T—A 2,785 (FiiA3,06319) 4,000[T] (BiiA4,40009) |-
£
2R BEEL 7 QERK) 20F [ [ — TV+NET 120M=—2 3,071H (BiiA3,37811) 4,000 (BiiA4,40011) [~
=2

B EMIRK-4

F
[i's

]

e



J:COM NET H—E 2

(202246 H30H £ TIZZEHOBE S F)

it —7 ok
20254711 H

ERTINE A %gﬁ% %;ﬁ; {ICI\'OK%KJB/SJB/ST\/ a—2E KD ihH HERIAE B | HEERIADR BUA) | Rkl (Bitl) | Z2RMBRE (BLA) | (R 2)
B%
|56 127 | BT L 7T QFESER) 24 E% - TV+NET 320M=—A 3,547 (BiiA3,9011) 4,000/ (BiiA4,400119) [~
27| B AL 7T FESK) 24F g% — TVHNET+TEL 40M=T— A 3,037 (BiiA3,34011) 4,000/ (BiiA4,400117) -
|26 127 | 5L 7T FESER) 24 E% - TV+NET+TEL 120M=1— 2 3,513 (BiiA3,86411) 4,000 (BiiA4,400M19) [~
27| B A EL 2T FES) 24F g% — TVHNET+TEL 320M=1— % 3,990 (BiiA4,38911) 4,000 (BiiA4,40011) -
ERREEER2AEE 23 14 %g - — 120M=t—2A 3,861 (Biir4,247M) 4,000 (BiiA4,400M19) [
HEI3H | BETT (EER) 14 ﬁ% — — 320Ma—A 41,5281 (BiiA4,9801) 4,000 (Biir4,40011) |-
AR |77 QERR) 24 E% - — 120M=t—*A 3,861 (Biir4,247M) 4,000/ (BiiA4,400119) [~
HARE |17 7> (2FE3R) 24F E% — — 320Ma—A 41,5281 (BiiA4,9801) 4,000 (Biir4,40011) |-
655 %T—hm%wyffva(%é}{I 14 %g J:COM LINK/4KJB  [TV+NET+TEL 4OM=T—A 3,037M (BiiA3,34011) 4,000 (BiiA4,400M1) [~
657 %7~#$5?%7r‘/%°7‘/l~“($%1i 14 ﬁ% J:COM LINK/4K]JB  |TV+NET+TEL 120M=1— 2% 3,513M (BiiAr3,86411) 4,000 (Biir4,40011) |-
655 %T—hm%wyffva(%é}{I 14 %g J:COM LINK/4KJB  [TV+NET+TEL 320M=—A 3,990 (BiiA4,38911) 4,000 (BiiA4,400117) -
#5657 %)7~#$5%%7J-‘/%7‘/F‘(i%1f 14 Eg J:COM LINK/4KJB  [TV+NET 4O0M=T—2A 2,785 (BiiA3,063M1) 4,000 (BiiA4,400M9) |-
655 %T—hm%wyffva(%é}& 14 %g J:COM LINK/4KJB  [TV+NET 120M=— 2 3,071H] (BiiA3,378M1) 4,000 (BiiA4,400M19) [~
H65f %7~#$5?%7r‘/%°7‘/l~“($%1i 14 ﬁ% J:COM LINK/4K]JB  [TV+NET 320Ma—A 3,547H (BiiA3,90111) 4,000 (Biir4,40011) |-
F66HE| A~ —NBTEA L T~ N QEERR) 24 E% J:COM LINK/4KJB  [TV+NET+TEL 4OM=T—A 3,037 (BiiA3,340119) 4,000 (BiiA4,400119) [~
FO6HE| A~ —NoTHA L T~ UK QIEERK) (24 E%.MDMLWKMMB TV+NET+TEL 120Ma—2% 3,513M (BiiA3,8641) 4,000 (BiiA4,400M9) |-
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[ECIINER S 25 [E%€ [J:COM a— 25 (3% 1) i H HEERIRBid) | HEERIHE(BLA) | S2R0fRBRe (Bl | ZAOMRREr (BLA) | (52)
MR [JERE |LINK/4K]B/SJB/STV
B%
OO A~ — R B T~ R QK [24F [J74 [J:COM LINK/4KJB  [TV+NET+TEL 320M=1—A 3,990 (BiiA4,38911) 4,000 (BiiA4,4001) [~
e
F66HE| A~ —hRA Y T~ R QFERK) |24F [ P4k [J:COM LINK/4KJB  |TV+NET+TEL Je1G=—2 on 4,490 (BiiA4,93911) 4,000[1 (FiiA4,40017) |-
£ auOV)0
FE6FE| A~ — b AL T~ U R QFERK) |24 |74k [J:COM LINK/4KJB  [TV+NET 40M=1— A 2,785M (BiiA3,06311) 4,000 (BiiA4,40019) |-
e
FOOTE| A~ — B4 T~ U R Q) [24F  [/F8E [J:COM LINK/4KJB  [TV+NET 120M=— 2 3,0711] (BiiA3,3781) 4,000 (FiiA4,40017) |-
=2
FE6HE| A~ — b AL T~ U R QFERK) [24F |74k [J:COM LINK/4KJB  [TV+NET 320M=t—A 3,547M (BiiA3,90111) 4,000 (BiiA4,40019) |-
e
FOOHE| A~ — R4 T~ U R Q) [24F  [/F8E [J:COM LINK/4KJB  [TV+NET H1G=2—* on 4,047M (Fiir4,4511) 4,000[1 (FiiA4,40017) |-
£ auOV)0
2R A~ —b RV 7 EAETE) 4 |44 |J:CcoM TV+NET+TEL 40M=1— A 3,037 (BiiA3,34019) 4,000 (BiiA4,40019) |-
{1 |LINK/4KJB/SJB
ool A~ — B EL 7 EAET) UE %4 |l:coM TV+NET+TEL 120M=a— 2 3,513 (BiiA3,86411) 4,0001 (FiiA4,40017) |-
{E5 |LINK/4KJB/SJB
2R A~ —b RV 7 EAEE) 4 |44 |J:CcoM TV+NET+TEL 320M=t—A 3,990 (FiiA4,389M) 4,000 (BiiA4,40019) |-
{1 |LINK/4KJB/SJB
H20ff| A~ — L/ EAREE) 4 %4 [1:coM TV+NET 40MT—A 2,785M] (BiiA3,06311) 4,000 (BiiA4,400M) |-
{E5 |LINK/4KJB/SJB
o2k A~ —b RV 7 EAETE) 4 |44 |J:CcoM TV+NET 120M=1— 2 3,071H (BiiA3,378M) 4,000[T] (BiiA4,400H) |-
i€ |LINK/4KJB/SJB
H20f| A~ — L/ EAEE) 4 |[#4 [1:coM TV+NET 320M=1— % 3,547H] (BiiA3,90117) 4,000 (BiiA4,40011) [~
{E5 |LINK/4KJB/SJB
F23F| A~ — PR (24E2K) 24 |[FAE |J:COM TV+NET+TEL 40M=1— A 3,037 (FiiA3,34019) 4,000 (BiiA4,40019) |-
{14 |LINK/4KJB/SJB/4K]
B/SJB with%# 7Lk
F230E| A~ — It L 7k (4ERE)) 24 [JFRE [J:COM TV+NET+TEL 120M=T—2% 3,513[1] (BiiA3,8641) 4,000 (BiiA4,40011) [~
{EF |LINK/4KJB/SJB/4K]
B/SJB withZ 7L vk
F23F| A~ — PR 7 (24E2) 24 |[FAE |J:COM TV+NET+TEL 320M=t— A 3,990 (FiiA4,389M) 4,000 (BiiA4,40019) |-
{1 |LINK/4KJB/SJB/4K]
B/SJB with%# 7Lk
H23Ff | A~ — PR EL 7 Q) 24E  [FAt [J:COM TV+NET+TEL Je1G=—2 on 4,490 (BiiA4,93911) 4,000[1 (FiiA4,40017) |-
5 |LINK/4KJB/SJB/4K] auly
B/SJB withZ 7L vk
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